Question Scheme Marks AOs

11 (a) Since x and y are positive, their square roots are real and so Ml 51
Way 1 (J;—J;)zzo giving x—ZJ;J;+y20 )
" Z,Ixy < x+ y provided x and y are positive and so
Al* | 22a
2
2
Way2 | Since (x—y)’>0 forreal values of x and y, x’ —2xy+3*>0 and
Longer so Ay <X +2m+y  ie. dxy<(x+y) Ml 2.1
method = oy € = Y
24 ,xy < x+y provided x and y are positive and so
Al* | 2.2a
xy < H—y *
2
2
(®) | Letx=-3andy= -5 then LHS = /15 and RHS= 4 so as
d Bl | 24
J1_5 > —4 result does not apply '
1)
(3 marks)
Notes:
@

M1: Need two stages of the three stage argument involving the three stages, squaring, square
rooting terms and rearranging
Al1*: Need all three stages making the correct deduction to achieve the printed result

®)

B1: Chooses two negative values and substitutes, then states conclusion




